Starter:

Match the picture to the .correct sentence.

Trrrrrrro . 3 lots 0of 10 + 3 lots of |
CeerErEEEsl B is the same as 3 lots of |l

T er 2 lots of 10 + 2 lots of 2
mennnnnnn M sl & is the same as 2 lots of 12

2 lots of 10 + 2 lots of |
is the same as 2 lots of |l

1) Complete the calculations helow.

7 x 1 x 5§ =

0000000 OO00O000O OO00000
0000000 OOO0OO00O




2) 3 X 4 X 5=

3) 6 X2X 3=

4) 8 X 3 X 3=

6) 9 X 6 X 2 =

7) 2 X 9 X 4 =

8 8 X I X 5=

9) 5 X 6 X 2 =

True or false?

8 X 4 X 3 =492

6 X 3 X &4 =172

9X 3 X 2= 66

8 X &4 X 3 =96




Tick the calculations that ore correct.

7 x 3 x 6 =

6 x 0 x &

8 x 4 x 3

2 x 3 x 4

2 x 3 x 6

3 X b6 x 7 =

120

36

96

32

36

125




Challenge:

Match the calculations to their missing .numbers.

4x6x8=‘\

9 Xx x 7 = 126

4 x 8 Xx = 128

192 4 2 3 190

True or false?
The missing number is 3.

5 X __ X7 =105

The missing number is 9.

X 5 X 4 =160






